
s|=;+= cfo tkm{ /sd ?= s|=;+= Joo tkm{ /sd ?=
cfGtl/s >f]t 12830192 rfn' tkm{ 74144692
;+#Lo ;/sf/af^ k|fKt ufpkflnsfsf af^ ;+rfng x'g] of]hgf 158242500
ljQLo ;fdfGoLs/)f cg'bfg 134700000 j*f tkm{sf] of]hgf tyf sfo{qmd 39100000

;zt{ cg'bfg 98700000
:yfgLo zf;g tyf ;fd'bflos ljsf; 
sfo{qmd 1060000

/fhZj af*kmf* 84100000 ;fdflhs ;'/Iff ;zt{ 45000000
:yfgLo zf;g tyf ;fd'bflos 
ljsf; sfo{qmd 1060000 ;Ldf If]q ljsf; sfo{qmd 10590000
;fdflhs ;'/Iff ;zt{ 45000000 ;zt{ sfo{qmd 98700000
;Ldf If]q ljsf; sfo{qmd 10590000 w/f}^L 450000
dfnkf]t sfof{noaf^ k|fKt x'g] 
/fhZj af*kmf* 1000000 >d tyf j:t'ut ;xfotf 2000000
k|b]z ;/sf/af^  k|fKt 
ljQLo ;fdfGoLs/)f cg'bfg tyf 
/fhZk af*kmf* 3787000
;jf/L ;fwg s/sf] /fhZj 
af*kmf* 5070000
df}Hbft af^ 30000000
cGo cfo
w/f}^L 450000
>d tyf j:t'ut ;xfotf 2000000
s"n hDdf cfDbfgL 
hDdf 429287192 hDdf 429287192

sf]zL ufp+kflnsf 
cfo–Joo cg'dfg ;f/f+z tflnsf 

cf=j=2075.76


